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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 2nd Semester Examination, 2021

ECOACORO03T-EconoMIcs (CC3)

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

1. Answer any five questions from the following: 2x5=10

T @-Cieat #fpfe elvex Tex wiss
(a) Define national income.
IS SR TG Wi |
(b) What does the Consumer Price Index measure?
(O WICR IHCF NCH 6 wAfRwI11 01 237 9
(c) When is IS curve vertical?
IS (A 4 TFF R 9
(d) Distinguish between Nominal and Real GDP.
W2 € 2F® GDP-A AL Tra I
(e) What is circular flow of income?
e 6 2R < 9
(f) How is joblessness measured?
TRl [Pl wifwiel T = ¢
(g) Define M, and M,.
M, 8 M,-a9 IR 18 |

(h) What is money multiplier?
LT @I FIE 0 9

2. Answer any four questions from the following: 5x4 =20

fsEe @-iet 51Ff6 2via Ted wies

(a) Explain the value added methods of measurements of National Income with
suitable example.

ToRye Triesel el T Y& siafore Gior o el i el

(b) Explain the loanable fund interpretation of the IS curve.
A< SRR [S @RI LI=eNs i<y B |
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Write a note on forms and functions of money.
S IR Tl 8 PICe T Bl A

Define inflation. Distinguish between demand pull and cost push inflation.

TERIfed wRe wie | bifnid 3 @ 43053 biers e S@rRifed 211w SIEsa Sl

Is GDP a satisfactory index of economic well-being of the people of a country?

GG Sreredid T TeAWIE @F Mo WL IR FS[EF p< RO [awat
1 5 T ¢ SNCEAB FA

Discuss the role played by unplanned changes in inventories in bringing about
equilibrium in the Simple Keynesian model.

T (PR AL BIA A el wreifisfare were el Afae e g Sl
I

Answer any two questions from the following:
fasfie @-ce 7 evs Teq wies

Explain the crowding out effect in the IS-LM model. What are the factors on
which the slope of the LM curve depends? What does a point off the LM curve
imply?

IS-LM SIS SIS BTs 2ol it It @Fie [anefer $2h LM @27 oiet fre
F(E 9 LM @3 A%E @56 7 5 o 72w 37 9

Why is the value of balanced budget multiplier in IS-LM model usually less than
that in Simple Keynesian Model? When these two are equal?

FRE (PP NOER Ge 1S-LM S SRS ST SEa e AETS I 27
(P 9 L G2 QIR W+ A (S 9

How is credit created by commercial banks under fractional reserve banking

system? What are the limitations of this process?

IR Tw Piw I AT TF FeT A Jeew afei g FEh @@
BT ANREerefer Srae S

Describe the costs of expected inflation.

aejife JurRifos IR Meete I T

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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